Ef-TEBRRAREE-ER AM64E5H23AHE
— EREE AREXJRE
HEFHR PN
AT — R X AR AT
TETHEEFLOL M KR
X7 (BKE) REM=EHEE |20
(EWKE) |TIEERSIEHEE 138
IS TREEHEE IE)IRE=66, E@m)IFHiE=12.3, £5)E=16
ok BHaHE” TRIFE=(12, 5.6)
8 AR PR =
e s ®waIIUMF]
= R E 5 EE 20m/s
ZRAE EHRE 20m/s FEHED
= - i 1205 % E DFES10cm
= RROFS D 12B R E O 200m
KR E )
59 et _
X7 REMEEHEE |15
TIERMEEHEALE |91
I TREEHEE PIR)IRE=52, E@E)I7iE5=98, £5)I7iH6=12.8
— HogE TRIGRE=(, 5), EEIGRE=012, 7.8), REJISRE=(13, 9.6)
- *EE/HJ”/#JK%iE 3%%]” NE]
[CkBEHE P
58 i, E 5 EE 12m/s
S i ER 12m/s EBFHS
= - i 1205 IR E D iES5cm
- REORS i3t 1265 RS O FE& 10om
KR GEY T
EER =i AL
£ EEFICKYBENTEINSEE
BE
1] g [100m
BrI% B/INEE40% TERNTE60%
- QEEDFEE0cmI EHY BB TIRICCUEERENEY DR
KR =IESUE-5CLUT
b BrFE ] IERUR4ACLULT
&k
2= 24B5REE E DFES : Eih20cml b 1LH#140cmEL L
= SiB:-2°C~2°C
e PN TBRE T100mm

NEREREEY RERESIER OHEAFSHhEICLSREEERLTILET.

*? SERARERSREDIHE,



